Does gene tree discordance explain the mismatch
between macroevolutionary models and empirical
patterns of tree shape and branching times?
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Figure 1: (Supplementary Figure). Mean Sackin statistic of gene trees divided by
mean Sackin statistic of species trees (S,/S;). Solid lines correspond to complete
species sampling p = 1, dashed lines to sampling probability p = 0.75, and dot-
dashed lines to sampling probability p = 0.5. Plots are obtained based on 100,000
simulated species tree—gene tree pairs at each choice of parameter values, taking

means separately for the gene trees and the species trees.
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Figure 2: (Supplementary Figure). Mean number of cherries in gene trees divided
by mean number of cherries in species trees (H,/Hj). Solid lines correspond to
complete species sampling p = 1, dashed lines to sampling probability p = 0.75,
and dot-dashed lines to sampling probability p = 0.5. Plots are obtained based on
100,000 simulated species tree-gene tree pairs at each choice of parameter values,

taking means separately for the gene trees and the species trees.
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Figure 3: (Supplementary Figure). The ~ statistic for empirical trees from Tree-
BASE. Each black dot represents a tree. The figure also shows simulated species
tree 5 values. The species tree 75 value depends on turnover and species sampling;
line colors indicate turnover, and line type indicates species sampling, as in Figure
2. Note that in the simulations, we subtracted mean species tree v, values from
mean gene tree 7y, values to produce 7, — 7,. As the number of points is too low
here to obtain mean v values for empirical trees at each tree size, we only plot each
empirically observed ~ statistic.



